Question Booklet Series - A

e

.E,,m’rﬁﬂ—i: Fo

W T 3 a et fasmT
GOVERNMENT OF INDIA: DEPARTMENT OF SPACE

SR 3UAT Fog, AT
ISRO SATELLITE CENTRE, BENGALURU

giren feeti® / Date of Written Test 20.11.2016 (XFaR / Sunday)
fowT / Trade et ()
' Technician-B (Fitter)
F{rsmater / Duration of Written Test 12.3CHrs to 14.00Hrs (30 Minutes)
et AT J&A / No. of questions 60
Sead G H qal Y HEar (wav I wiia) 14
No. of pages in the booklet (including cover page) -

R e %f?fifam?\&ﬁlnstructmns to the Candldales__

1. 4% wes-9d, w&mm%‘wﬁ%l Ty qfiesf¥ied} @ AT TR wedl W g
The question paper Is in the form of test booklet. Alt candidates will be assessed on identical questions.
2. OMR #fic = el & caergds 9fgwl OMR ahewmﬂ&ﬁtmmﬁﬁ%ﬂamﬁﬁwmmm
FEH (FAT AT Ao FITHT F
- Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing/ shading/ bubble on
OMR sheet and marking your answers,

3. seedt & fare, ol ORI B e SR Wi TE OMR ehe R S s SR T AF OMR O #
Baor F e wF PleE ot diT & T SR SERE Y 39 9" T

A separate OMR answer sheet with carbon impression is provided fo all the candidates for answering. On completion of
the test tear the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to
the invigitator and retain this duplicate copy with you.

4, qﬁa?a—mﬁnawa;r%ﬁvwwﬁtmmmwaﬁ?a:mmmm(a),(b).(c)sﬁt(d)ﬁ;crmr%l
5T & Fad uF & W g

Each objective question is provided with a text andlor i igures wheraver applicable with multiple answer choices (a), (b),
(¢) and (d). Only one of them is correct.

5. i argfse weAl ¥ TAA 3 g W 3R & AT i\ 3w BT Sl saR o & WO 3R, d IaR F
forw v 3iF T See| R R & fAT SESTR ST IO Sea AT e

All objective type questions carry equal marks of THREE for a correct answer, ZERQ for no answer and MINUS ONE for
wrong answer.. Multiple answers for a question will be regarded as a wrong answer.

6. e TRAH FT @il 3T IR ¥ AN W AT B AT car b Ffewa B ) B OMR dfte W, B4 wr g9
# formmT sfeard §1 0| 7 A W, mmﬂmaﬁﬁmml

Question booklets have been marked with A or B or € or B on the right hand fop corner, which s mandatory to be written
on the OMR shaet in the box and bubble appropriately, falling which, the answer sheet will not be evaluated,

7. Wﬁwmaﬁmm%wmﬁm%ﬁmmﬁmmmm NewT § e A
ST
Space available in the booklet could be used for rough work, if required. No separate sheet wili be provided.

8, IRl fic W pERR A ¥ wod, Fwnd w1 suRid e I e S5 fergar gem wiemel @ e e &
A § EEER A F

Before signing the attendance sheet, the candidate should write the Booklet Code in the atlendance sheel. Candidates
should sign against THEIR names only.

9. WRT ¥ g # (1) W Rk FRET e Fiw 9 (2) A9 OMR e dlie 3T (3) WA 99, 0w F amd

& &1 R o oY F 3 el s 7 & Smdl _
At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer Sheet
and (3) Question Paper shall be returned ta the Invigilator and shall not be carrled by the candidate under any

circumstances.




TE 02 (Fitter) : Series — A

9. . 7ol / Question Fea¥ [aFed
Q.No Answer Options
L. | lerar ¥ & smar =67 82 (2) % / Shoulder
Which is not the part of a file? (b) TSt / Heel
: (c) ®Tel / Ferrule
(d) e / Barrel
2. |3 o mwe B & fov 3uged oo (a) Uhel Fea / Single cut
The file used for filing leather is —-------- (b) T Fre=t / Double cut
' {c) TET FIeA / Rasp cut
(d) ¢er et / Curved cut -
3. | U FRHEA = cmeememmmmmenm Jedr (a) 0.001
One Micron = =---m-mmmmnmm cm (b) 0.0001°
1 (©) 0.01
{d) 0.00001
4. | o dgw 1 feg FT RO go O e @ g & | () 45
ERPET) (b) 100°
What is the point angle of prick punch which is used for | () 75°
making light punch marks?
(d) 30°
5. | &ShiAae eeer 36 - CaRT fgafese (a) 3AT / Volume
The engineer’s hammer is specified by its ---~---- (b) &5 Fr dAarS
Length of handle
(c) AT / Weight
(d) Jere’ / Material
6. uﬁéﬁmﬁmwwm%m%ﬂﬁwﬁrm- (a) 3% / High
- BT IfRT . '
If the strength of material to be dnlled is hlgh, the drill ®) / Low
speed should be --------------- (¢) 59 W Y AT & gom
Speed will not depend on
strength
(d) 370 F$ 7 / None of

these
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7. e i 44 m/min 3R B &7 =@ 20 mm & fow i (a) 350
'| Fedzer RPM &1 aiotar & (b) 1400
Calculate the spindle RPM for drilling speed of 44 m/min (c) 500 '
and diameter of drill 20mm,
' (d) 700
8 | WdRN ger g (W @l M) & U 3UgEd | () Rew dw
HIGED T ' Soluble oil
What is the coolant used for machining cast iron? (b) T faerg
Chemical Solution
(c) WlataT et
Mineral oil
(d) freTer FIET
No coolant
9. | afther e & 39 7eg Tha 9P A gt e W | (2) 0.02
40 Y fog & fosree fham o/, mm A A gHer (b) 0.01
FATH A0 (T.T) FT 87 (=T Thel HT=1mm ) () 0.025
In a vemnier caliper 39 main scale divisions are divided |.
mto 40 equal points on the vernier scale. Then what is its (d)0.03
least count (LC) in mm? (take the value of main scale
division =1mm) ‘
10. | sl At (IS) 9oTell & 38R o 3o fde &7 9.5- | (a) W& #o7
H-IS5101-HS, weafae §1 360 & H&ar 9.5 7 Fr e Rake-angle
As per the Indian standard (IS) system, a drill bit is ~ Drill bit length
designated as 9.5-H--IS5101-HS, in this the number 9.5 | (¢) ¥=e =or
stands for —---m-mm-mremmem ' Spindle diameter
(d) 31 =T
Drill diameter .
11. | 60° 45 =r wior § (a) 60.75"
The angle 60° 45" = mmmmmmmenee- (b) 60.5°
1 () 60.25"
(d) 60.6"
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12, | =gr &I ooy forad ggl &1 Alerg 3 0O & G4 § &0 | (a) 957 ey
________ Fga Bl Major diameter
The diameter of the thread, at which the thréad thickness | (b) & =am|
equal to half of the pitch is called ~ws-----——- Pitch diameter
(c) oy ==
Minor diameter
(d) HE"T () S
Shank diameter
13. | afoRR Saer ATl & ~AdH TOTAT & e (a) 10°
The least count of vemnier bevel protractor is ------—-- OR
()5
@2
ﬁaaﬁﬁﬁﬁmmsﬁammﬁaﬁ (2) &€ / Root
” [E 10 N o ge— FEd ¥l (b) WelsF / Flank
" |In a screw thread, the top surface joining two adjacent (c) %¥eT / Crest
sides of thread is called ---wme-en (d) e / Throat
15. |t# MI2X1.5 & we@edr (@o) & & & fre o= | (@) 11.85 mm
IH(ETSS) ST =T §7 (b) 12.15 mm
What is the blank size (diameter) for preparing a bolt of ‘ '
MI12X1.57 (¢) 11.5 mm
. (d) 12.3 mm
16. | Raew, W& ®I 4RO X ¢ 6w ool & swReT RRaT | (a) OIRY Rider
e §7 ' Pipe vice
Which vice is used for holding rivets, keys? (b) g7 R
: Hand vice
(c) = Rymar
Pin vice
(d) s st
Bench vice
17. ww%ﬁaﬁ%ﬁwmwﬁmﬁﬂﬁw (a) s B
B o 7 e— R &1 Centre drill
A single tool which performs the combined operation of | (b) Twd s@=fa
drilling and counter sinking is called -<~--rm-- Counter sink
(c) AT &g
Counter bore
(d) 7wl
- Tap
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18. [ wEgar womell A T B F 3R X IMAEA | (a) MR N fUEaR g
gfa@fEr swar g Maximum limit of size
In a tolerance system, as per the below figure, the | (b) &Y &1 et HIAT
dimension 'x’ represents «--------- Minimum limit of size
(c) et exfowa
> XEV/ 7 LL7777778°H Lower deviation
. (d) I safaswa
i Upper deviation
19. lue fwg 3T eve @egwar womel # O WW AW | (a) B% / Hole
T o — T T (b) ame / Shaft
In a hole and shaft tolerance system, small letter indicates | (¢) =l &g R aore
fundamental deviation of -----=e-- Both hole and shaft-
(d) 354 F1$ 7
None of these
20. | fo 3k amve @ wEIr & gidATEe Sar A & = A | (a) el / Clearance
fear o &, @ 59 e H7 --onv Fgd gl (b) =gfa=oT / Interference
If tolerance of hole and shaft represented as shown in | (¢) aftads / Transition -
below figure, then this fit is called ------ (d) 55 FS
F 77 LLLL LT ASHArT None of these
ANNNANNANNNRANNNRRR LT
21. | arfaer fer e gant yaifera gl (a) Rega Faf
Pneumatic drill is operated by ~~------ Electric power
' (b) ®ifEd arg wufFq
Compressed air energy
(c) sTgerer
Muscle power
(d) ga=nferd ufed
Hydraulic energy
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22,

for oer S B A R & R@iv av smER @ fBw ¥
s & gl T gar |
Find out the distance between the two holes in a plate as

per the hole table shown in the below figure,
‘ HOLE TABLE:

[HolENO | X Y
1 5 5

n 2

. 2 25 | 20

(a) 25
(b) 20
(c) 45
(d) 15

23.

A T FoRe 3w B 7 T 9 g wwar ¥
What is an angle ‘@ represents in the cutting tool figure
given below?

(a) ToepIET SIoT
Clearance angle
(b) & 0T
Rake angle
(c) a5 HIT
" Wedge angle
(d) st Hg T

None of these

24.

As the rake angle of the cutting tool reduces, its strength
751 |

(a) s&om
Increases
(b) =T
Reduces
(c) 9 9T HIE YT FEY
No affect on the strength
(d) 39 #r§ 7 &

None of these

25.

RT fwer & o9 ¥ 918 9G1 & gg=e 7

Identify the heaviest material in the given options?

(a) Fger EId
Mild steel
(b) sreffafaR
Aluminium
(c) venfEes
Plastic
(d) s
Lead

26.

oY WA F AT F AR §AC S Bl ITERT Fr

gs AR Ao Y AT F 3T W §1
Name the part of a lathe machine, that provides the
method of holding and moving the cutting tool,

(a) 2=zar / Bed -

(b) o iw / Head stock
(c) are=T / Carriage

(d) 2&e TeiF / Tail stock
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27, | s A § T oie B wied #e T Uil § e | () 93T /7 Puddling
The process of obtaining pig iron from iron ore is called ) Fﬁw ! Sr.:neltlmg
. (¢) =rfelar/ Prickling
T (d) senf&eer / Blasting
28. | far ey T YEar TR FAT &7 (a) 90.9%
What is the purity level of wrought iron? (b) 95.9%
(c) 99.9%
(d) 93.9%
29. | Ay F S 3T FET B % T @7 Ig TG eemeee F1am | (a) HGe / Softer
As the % of carbon increases in iron, it becomes more ---- (b) TN / Harde%r
{c) erite / Ductile
""""""" (d) merd / Tougher
CTOR R — T (a) a9 ofEcH veliFes
Epoxy is 8 ~w=-------- Thermo plastic plastic
(b) ars AfET e
Thermo setting plastic
(c) vitg ¥ g
Non ferrous metal
(d)¥E arg
Ferrous metal
31, | sty Y e & @@ 3EE AAE W 3UGFd Uerd S | (a) FHRIT / Epoxy
Feg a9, #ifadr i wwmae wfafear & 9oy &ar &1 | (b) ®gern / Char coal
The material used in furnace wall as a inner most layer, to | (c) 379ad% / Refractory
resist high temperatures, physical and chemical reactions (d) BT / Nitrading
is called --------- a
32. | wfShr sfirar Twe 78T 1 oS F ol § 3R 3Ry | (a) Io@fdedt / Upsetting -
T UG BIell § PN ~-mmmmev FEd © | (b) grger 313 / Drawing out
The forging process in which, the length of forge reduces | (¢) se=RoT / Shortening
and cross section increases is called wmmmmnees (d) T / Drifting
33, | W uIg g F FAR F A IR FEI B B UBRD F | (a) ARET / Notching
(b) 8T / Hemming

The process of stiffening edge of sheet metal article by
folding is called ---------

(c) 9f=er / Punching
(d) T&TGsT / Snipping
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34, | ww diaer qae dot T o 7 & 3R dars 10 ] (a) 220 o
2
Fft ¥ & IET Tag BB AT I (6) 110 cm
‘ (c) 440 cm?
Find out the outer surface area of hollow thin cylinder, , 2
{(d) 70 cmy
whose diameter is 7 cm and length is 10 cm?
35. | Ry ~ ofafeela 3 Qesw & vRafelaer f@felEt &1 9ot (a) ool / Red
FIS T §? ‘ (b) A& / Maroon
What is the colour code of acetylene cylinder in oxy- (¢) 8T / Green
acetylene gas welding? (d) & / Black
36. | erF (For Smeel) F ge? (a) kejem®
What is the unit of Torque? (b) Kg/em
(c) Kg—cm
(d) gm/cc
37. | LPG &7 faFawor #7 (a) SliiFas Wiwtsd 3
' Liquid Profile G
What is the full form of LPG? ® .'mlqmmmme o e
Liqueﬁed Petroleum Gas
(c) elifdas TR 39
Liquid Pressure Gas
(d) & 9o I
Low Pressure Gas
38. | eI voie & desd & AT Bl W dos oF 3UTFT | (a) 359 F sEA
? 7 High carbon steel
| What is the welding rod used for welding aluminium (b) T - =Y B e
plates? Copper-silver alloy
(c) U5 reAHIR
Pure aluminium
(d) FrEg
Bronze
39. [ 104°F @ oot Sfcwre & @ (@)40°C
0
Convert 104°F into Degree Celsius, (b)30°C
(cy23°cC
(d)50°C
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40. | poole o5 & doad [ ¥ 2 (a)&
What is the welding symbol for fillet weld? (b) M1
© Y
@ fl
4. |7 R fr % 20$ R o o s a4 § 2 (a) 10
What is the smaller diameter of a tapered pin shown in (b) 18
below figure? (c) 12
: (d)16-
Taper 1:50
I I I N
200
42. | gerwrer welfder issar & o U SeraTer a6 H e (a) %41 / Cathode
. (b) A3 / Anode
& T H IyART AT :
ST &7 (c) gelgIs / Electrode
In a electroplating process, the item to be coated is used (d) 557 & FIg 7 /
AS —emmem e None of these
43. mﬁwﬂmwmmﬁﬁﬂgﬁ? (2) Ager T/ Mild steel
Pick the material which has the least coefficient of (b) 312 7/ Aluminium
i ] . (¢)3=ax / Invar
ermal expansion, (d) TSR / Titanium
44, aﬁﬂﬁvﬁ?ﬁmmwﬁaﬁmﬁmw (a) adE® qa
Compressive force
g O ¥ § 39 g - & aeleT (b) e :
If a rod is bent into curved shape as shown in below Tensile force
figure, then the top most layer is subjected to ~----nn-n © FR’[‘s' W
' Twisting force
/ ? () F§ a7
No force
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reverse metal plating process.

45, |y g s A (L) IR Re P)Fda s d@w §? | (a)L=P
What is the relation between the lead (1) and pitch (P) of | (0) L=4P
a two start thread screw? (c)L=2P
() L="4%Pp
46. | B9 TEF g ? (2) HiowTa =% wethe
Ldenti 1id lubricant? Calcium Di Sulfide
entily a solid lubricant? (b) AT ¢ Tetne
Molybdenum Di Sulfide
(c) e 315 wekhe
Potassium Di Sulfide
(d) DT = wedhe
Sodium Di Sulfide
47. | frw A 9fear A, 9 afr F w=mrd s Reprem | (a) @ / Lapping
T &7 (b) Bfesier / Milling
In which machining process, large amount of material is _
removed? ' (¢) gfeter / Honing
(d) sfter / Buffing
48, | e H A Idw EH A # AT F amasT ¥ A9 | (a) EaReT S 99 fre
Merer fovar Sar &1 59 a& & aF fow & fe & o B Press fit by expansion
FAY & AIAT B AT A F T TR B IAT § (b)ﬁaﬁgwﬁmﬁ»—d_
Name the fit, in which the shaft is cooled below the room Press fit by shrinking
temperature until it fits into the hole, then assembly is | (c) ga=ifed Y& e
allowed to attain room temperature. Hydraulic press fit
(d) 39IF HIS I
None of these
49. | srefe Al Of o oo W Swd uig aféer afwar &7 | (a) goeer cafeia rhfr
I O S § ' Electro Discharge machining
Pick the non-conventional machining miethod; it uses | (b) FeiFar Y& E= AT

Electro Chemical Machining
(c) reed ARfAT

Ultra Sonic Machining

(d) gorFeT weifea
Electroplating
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IOEE H AH TaU [AEh @R AR A @ 3e AR

50. ! (a) BISFEEH 3UTa
fEaee & QT 3cdlel yHE garr B S g Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) EOk Ol
by leverage affect. Crow bar

' (c) Wk foue
Fork lift
(d) shifer 39E
Broaching tool

51 | #olieT siepeeior fRemmaelt & mefier & R ona @ | (a) U9 REET S
foatar & d@aer & o oo F1 Plerer & dey # a9 Daily lubricate
forg fres WM ¥ | (b) weenfee s ae
In a machine maintenance manual, regarding the Weekly lubricate
frequency of lubricating the machine, square symbol | (¢) HIf& FRHaT HEAT
represents --------------- Monthly lubricate

(d) arf¥s Rwer &=
Yearly lubricate

52. | 8mm Wid % ©F ¥ fhde 4 mm Wed e H Fer o | (a) 8
el §7 (b4
How many cubes of 4mm side can be cut from cube of ©6
side 8mm?

(d)12

53. | & amr v sl & 3eg (25%% - 4), ¥ 3fE A= (5x-2) | (@) (5x-2)
@l B & 9d1_ &y | : (b) (5x +2)
The product of two quantities A and B is (25x* — 4), If A= (©) (4% — 2)
(5% - 2), Then find B?

(d) (4x +2)

54. | s T egAEA g w R 7o & 1/3 ¢ B & | (@) 27
are ig gere 91w N frae 3 s=w ST g g )9
A spherical aluminium ball is melted and made into © 18
smaller balls of 1/3 ;4 radius of original one. Then how
many such balls can be made? (d) 12

55. juw 63 &K & fAurg B amr fiw it Ra g @ | (@) 32,24,7
AL 4:3:2 F eI A SarEr G| & g9 s A | () 29, 22,12
Yol T H 3 FH F wE AR (kg) F aAC (c) 28, 21, 14

An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 respectively.
Then pick the correct weights (kg) of each metal in this
alloy in a same order?

(d) 26, 20,17
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56. | 75m’ 3T % O 0 M) 150 gm ¥l 36 o & 300 | (a) 300 gm
m3.3rraa:ra:a¢3wamﬁ| - (b) 900 gm
Weight of 75 m” volume of metal is 150 gm. Then find 500
the weight of 300 m® volume of same metal, (©) g

(d) 600 gm

57. | =iferd UE 9T 91 gaRr T 99T § HT —oooev Fgd &7 | (a) & / Pressure
The friction force exerted by air on a moving body is (b) 9T / Drag
called -----memomn (c) ZatT / Lift

(d) 3coem@adr / Buoyancy

58. U TR ¥ BR A 300 N & aor § foradr areafas oorg | (a) 20 N-m
15 Q3 &, & YgFd ek H T ? (b) 90 N-m
A force of 300N is applied at the end of spanner, whose ) 45 Nem
effective length is 15cm. Then find the torque applied?

: . (d) 11.25 N-m

59. | g TR W dIH ASgerd FAT §? (a) 21 X 10° N/m?

What is the Young’s modulus of mild steel? (b) 210 X 10° N/m?
(c) 70 X 10° N/m®
(d) 7 X 10° N/m?

60. ﬁama@ﬁwaﬁﬁéﬁé‘h’%wm (a) h/2
e ey FEl 87 (b) h/4
Where is the centre of gravity (CG) of right circular cone (© W3
of height ‘h’ from the base?

(d) 2h/3
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9. . 99T / Question 3cal dey
Q.No , Answer Options
L. | afttar daer dieeed &1 =AaH 06T § - (a) 10°
The least count of vernier bevel protractor is ~=------—- O
(c}5°
()2’
2. | RAgE, 9 & OROT a0 g FRE dwer 1 swEer B | () wigy T
ST §7 Pipe vice
| Which vice is used for holding rivets, keys? (b) grar TR
Hand vice
(c) e Rhar
Pin vice
(d) 571 Rsr
Bench vice
3. | P 3t wwe 1 geaar @ vAREE 3w AT ¥ oy & (a) f=rIT / Clearance *
feer aram &, & U fhe Y o FE T (b) cafa=or / Interference
If tolerance of hole and shaft represented as shown in (c) uRadeT / Transition
below figure, then this fit is called --~--- : -
S, (d) 5wt JS ¥
E Z. dSHAFT None of these
[ AN SN N HoLE
4| gEr & oo s g A AR 3 B & g § #@| () $9r care
........ FEa B Major diameter
The diameter of the thread, at which the thread thickness | (b) T sar&
equal to half of the pitch is called -~we-vmm- Pitch diameter
- (c) oy =g

Minor diameter
(d) #eamET () =ama
Shank diameter

Page 2 of 14




TE 02 (Fitter) : Series— B

5. |wEgar wome & e BN F IEER Cx7 I # | (a) IR B OFAH WA
gfafafer sar & l Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T T =y A
dimension ’x’ represents ---------- : Minimum limit of size
' ' (c) fF=T safamA
s KE"/ 77777777 TR Lower deviation
. m (d) IR sxidsweT
@ Upper deviation
6. | 60°45 @ FoT B (a) 60.75°
The angle A L U— (b) 60.5°
(c) 60.25°
(d) 60.6°
7. |ww fowg 3R wite wEmaar gumell A @l 3R He | (a) O / Hole
STAGHH = 3ifha Far 81 | (b) enFe / Shaft
In a hole and shaft tolerance system, small letter indicates | (c) =i &g X emwe
fundamental deviation of --------- Both hole and shaft
(d) 589t P e
None of these
8. |uw uwe oW o et B s ufay smwfa @ fsaeT | (a) Fe
FLAT Y o FEad P , Centre drill
A single tool which performs the combined operation of (b) faader Eafar
drilling and counter sinking is called --------- Counter sink
(c) TR &g
Counter bore
(d) =Telr
Tap
9. |%7 g # IF &7 3 WaF o & Hewwe WF F | (a) ¥ / Root
EIES T — &Ed ol : ' (b) e / Flank
In a screw thread, the top surface joining two adjacent | (¢) &€ / Crest
sides of thread is called ~-=-n---- (d) @e / Throat
10" { o MI2X1.5 & wewd (o) & s & v s | (a) 11.85 mm .
HATH(ASS) SUTH #4182 (b) 12.15 mm
What is the blank size (diameter) for preparing a bolt of
M12X1.59 . - (c) 11.5 mm
‘ (d) 12.3 mm
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11. | aftfer Hfaw % 39 e wher ot & 9 whel o | (@) 0.02
40 SUEX g @ feSE e AR, mm # @ SEE | (b)0.01
TIAqH VLA (VL) FAT §7 (T Fhel $F=1mm ) (c) 0.025
In a vemnier caliper 39 main scale divisions are divided
into 40 equal points on the vernier scale. Then what is its | (2 0.03
least count (LC) in mm? (take the value of main scale
division =1mm)
12. mh?ﬁmm%(mﬁﬁwwm)%ﬁvw (a) Taerg ool
MISECH Soluble oil
What is the coolant used for machining cast iron? (b) T@E faery
‘ Chemical Solution
(c) @fasT oo
Mineral oil
(d) 2frerer e
No coolant
13,1 ¥ 199 =3 fr faend & v sged o (a) el @es / Single cut
The file used for filing leather is --—mmumemn (b) GIT FreaT / Double cut
' (c) UFT e / Rasp cut
(d) eer &rest / Curved cut
14, | t& AR = wmmvmcemmeeee T (a) 0.001
One micron = —---nramoum- cim (b) 0.0001
(c) 0.01
(d) 0.00001
15. | B daw a1 R Aor B god O REd & saiy 2q | (2) 45°
3Ugad’ (b) 100°
What is the point-angle of prick punch which is used for (c) 75°
making light punch marks?
(@ 30°
16. | srclrer #=th (IS) 9oTelt & 38R F 3ol e &7 9.5~ (a) Y& o7
H-IS5101-HS, weanfad &1 g& & dear 9.5 @1 &5 31 | . Rakeangle
¥ (a) fger T dars
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5-H-IS5101-HS, in this the number 9.5 (c) Fevse =
stands for ~--------rrm-nnn Spindle diameter
(d) 3ol earg

Drill diameter
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aﬁ%ﬂmﬁwéwwméﬁ%ﬁaﬁmﬁ_m

17. (a) 3T / High
-mme BT TET -
If the strength of material to be drilled is high, the drill ®) / Low ‘
speed should be -----------em- (c) 57 R a1 TR wTE g
Speed will not depend on
strength
(d) 39T ®1$ F6r / None of
these
18, | R a1 44 m/min 3R BT @1 @@ 20 mm ¥ faw | () 350
' fedser RPM 1 a1rar & (b) 1400
Calculate the spindle RPM for drilling speed of 44 m/min (©)500
and diameter of drill 20mm,
‘ (d) 700
19. | Ehfeas gaisr @S - ZarT FaAlgse (a) 3T / Volume
The engineer’s hammer is specified by its -------- OYEGEIGEIES
‘ Length of handle
(c) ¥R / Weight
(d) wErdr / Material
20. | wiear YT & AT AR 7 (a) 4T / Shoulder
Which is not the part of a file? (b) T8 / Heel
(c) BTl / Ferrule
(d) ReT / Barrel
21, | tw @rae gad o e s 7 39 3l wers 10 | (2) 220 e
2
Aot & & TRY Wag AT T IAT ] (b) 110 cmm
' (c) 440 cm®
Find out the outer surface area of hollow thin cylinder, .
(d) 70 cm
whose diameter is 7 cm and length is 10 cm?
22. (a) M2 / Notching

9 G TEG F PR B A WS DA AT AR B

The process of stiffening edge of sheet metal article by
folding is called ---------

(b) gfFHeT / Hemming
(c) 9fRiT / Punching
(d) e / Snipping
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23. | LPG =1 fawawor &2 (a) SNfFas WoEa 9
. _ Liquid Profile Gas
What is the full form of LPG? (b) AfFawEs defeew g
Liquefied Petroleum Gas
(c) ehfeas W A
Liquid Pressure Gas
(d) & veR
Low Pressure Gas
24. | wdY Y el F WO SN FAF W 3UYET Yerd Sl | (a) g / Epoxy
Foa dY, #ifdr 3 e gfafear @1 afaer s=ar &1 | (b) ®"err / Char coal
The material used in furnace wall as a inner most layer, to | (¢) 39ad® / Refractory
resist high temperatures, physical and chemical reactions (d) PR / Nitrading
is called ---—-nm-
25. | 104°F @& ol afcwaw & agar (2) 40°C
0
Convert 104°F into Degree Celsius, (b)30°C
‘ (©23°C
(d)50° C
What is the welding symbol for fillet weld? (by ™1
© Vv
@ Nl
27. | < (Fer YOT) F gAe? (a) kg/em”
What 15 the unit of Torque? (b) Kg/em
(c)Kg—cm
(d) gm/cc
28. | Y ~ wfafedhs W9 dosw & ofafefom fafdisy s aof (a) ool / Red
T T §? : (b) A%T / Maroon
What is the colour code of acetylene cylinder in oxy- ()& / Green
N ;
acetylene gas welding? (d) F1&T / Black
29. | wifotar wiswar formay o7t v s &9 g § 3l vy (a) 3r9afEeaT / Upsetting

FIC FAET Gl § & e e &l

The forging process in which, the length of forge reduces
and cross section increases is called ---~r-----

(b) STSeF 313 / Drawing out
{c) ergeToT / Shortening
(d) T8 / Drifting

Page 6 of 14




TE 02 (Fitter) : Series — B

30. | srepferad v & desd & fov @i W Jesd B IUYFT | (a) 3T BEG SEUE
? High carbon steel
What is the welding rod used for welding aluminium (b) a9 - @i s g
plates? Copper-silver alloa
‘ pp v ¥
(c) Y& Jtepiaras
Pure aluminium
(d) Fie
Bronze
31, | g 7 S SR FIT AT % TSI A AF WG - T | (a) HgeT / Softer
As the % of carbon increases in iron, it becomes more ---- (b) FEN / Harder
' ‘ (c) orEiTem / Ductile
I (d) TereFd / Tougher
32 | oot e 2l (a) @y venfles cennfees
Epoxy is & ----------- Thermo plastic plastic
(b) ara afdar venfees
Thermo setting plastic
(c) g HFT &g
Non ferrous metal
(d) o &Ry
Ferrous metal
33, | s ol ¥ 9T AR W e wE A ufRE § eeeeeee (a) Tsfelar / Puddling
- . . . (b) ¥ATPE / Smelting
The process of obta%nmg pig iron from iron ore is called © ar/ Prickling
_______ (d) senieeaT / Blasting
34. | g 3@ o B A R A RET w 3R & B F | (a) 25
dra Y gt @ var w1 | . ()20 -
Find out the distance between the two holes in a plate as
per the hole table shown in the below figure, (c) 43
HOLE TABLE: (d) 15
9 2| lmoENo| X 1Y
. 1 5 5
Y 2 2 | 20
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35.

arferer f3er Hlm-nmaoe earT S £
Pneumatic drill is operated by ~--nm-x-

(a) foreg ot
Electric power
(b) gdiifse arg arfera
Compressed air energy
(©) g
Muscle power
(d) gaafaa ufrd
Hydraulic energy

36.

mmmwmmm%mm -------- g

As the rake angle of the cutting tool reduces, its strength
R0 || [ ——

(a) S&aT
Increases
(b) S gr
Reduces
() & I DI AT AL
No affect on the strength
(d) sa# ®ig g B

None of these .

37.

or awmeT & w9 & 91 91y =y ugEne ?

Identify the heaviest material in the given options?

(a) Hger SEUTT
Mild steel
(b) AT
Aluminium
(c) TeniEe®
Plastic
GCES
fead

38.

Toear otg &1 ygar Tax Far §?
What is the purity level of wrought iron?

(a) 90.9%
(b) 95.9%
(©) 99.9%
(d) 93.9%

39,

A QU see s [ & For @@ 9fafafe swar &)
What is an angle ‘@’ represents in the cutting tool figure
given below?

(a) Toreprefr wror
Clearance angle
(b} I&F RIoT
Rake angle
(c) a3 FHiur
Wedge angle
(d) gust g el

None of these
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40, | mehe & AP & AT TA0 A FAET 3T F | (a) =T/ Bed
hsal AT Teler T JfT B Iuers HIar B (b) ¥ Teiw / Head stock
Name the part of a lathe machine, that provides the (¢) ag=t / Carriage
method of holding and moving the cutting tool, (d) &ger Tl / Tail stock

41. WWWWWW%” (a) 21 X 10° N/m’

. What is the Young’s modulus of mild steel? '(b) 210 X 10° NAm?
(©) 70 X 10° N/m?
(@) 7 X 10° N/m?

42. | & A v K & @ 3cue (25x%° - 4), § I A= (5x-2) | (8) (5x-2)
dr B & 9al #0TT] (b) (5x +2)
The product of two quantitics A and B is (25x —4), If A= B
(5% - 2), Then find B? (©) (hx=2)

‘ (d) (4x +2)

43, | & TR & B # 300 N&r aef § forgey amrﬁm warg | (3) 20 N-m
15 9t §, < 9ged e HT 9T o? (b) 90 N-m |
A force of 300N is applied at the end of spanner, whose (c) 45 N-m

| effective length is 15cm. Then find the torque applied? T ‘
(d) 11.25 N-m

4. | 8mm wd ¥ uF § Pt 4 mm TR € R wrer ST (2) 8
TRl &2 ' (b) 4
How many cubes of 4mm side can be cut from cube of ©) 6
side 8mm?

(d) 12
45. Al e Tmmmel # mehe @ Rwar wma # | (a) O Fwer wwer

TR & Gy & 997 oo @ oieRar & d9y # g
Reg T wfafafer gt ‘

In a machine maintenance manual, regarding the
frequency” of libricating the machine, square symbol
represents ~~---mrmmmnm--- - '

Daily lubricate

(b) gearfes Reer aar
Weekly lubricate ‘

(c) FIflh fRreper el -
Monthly lubricate

(d) @i Rear wear
Yearly lubricate
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TF 63 WU & Aurg S 9@ S R e arg @

46. (2) 32,24, 7
AR 4:3:2 % IO H S w56 Baarg 7§ () 29, 22,12
Yedd U A AT FA A e AR (kg) T IIIC (©) 28, 21, 14
An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 respectively. (d)26,20,17
Then pick the correct weights (kg) of each metal in this
alloy in a same order? ,
47. | sFa geaeR O TS dor @ wars h § o swer | (@) b2
e hey; HET @7 (b)h/4
Where is the centre of gravity (CG) of right circular cone () h/3
of height ‘h’ from the base?
‘ (d) 2h/3
48. | =forg Nz w a7 AR TNV TYOT qof &1 —~--mm FEd &7 | (2) &1 / Pressure
The friction force exerted by air on a moving body is | (b) eieaT / Drag
called -—-—-omomm- (c) 3T / Lift
(d) 3cedtashar / Buoyancy
49. | 75 m’ 3T F g H ST 150 gm ¥ I g F 300 | (1) 300 gm
m’ AT & HT G (b) 900 gm
Weight of 75 m® volume of metal is 150 gm. Then find 500
the weight of 300 m® volume of same metal, © gm
' (d) 600 gm
30. | v Fier JreqAlA de B et g+ 1/3 4 Bear | (2) 27
Bl¢ g g7 Y| O fhaa AT s S ged § ()9
| A spherical aluminium ball is melted and made into (©) 18
smaller balls of 1/3 ,4 radius of original one. Then how
many such balls can be made? (d) 12
51. | o s ygaw ? (a) Hfoeraw =1 Totbe
Calcium Di Sulfid
Tdentify a solid lubricant? ® e ‘;; ot
Molybdenum Di Sulfide
(c) AT 2§ gl
Potassium Di Sulfide
(d) Wf3ua 515 "o
Sodium Di Sulfide
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52. | arefe melfelr {fF o auw +t fowst anq wafder wfhar @7 | (a) serwe) Scatela mefifs
3T T smar € Electro Discharge machining
Pick the non-conventional machining method; it uses | (b) Feragl TG AN
{ reverse metal plating process. Electro Chemical Machmmg
(c) e Aedifetar
Ultra Sonic Machining
(d) geleFgl Tl
Electroplating
53. | fhe @ @ waw SEA oM @ SR & gEe @ A | (a) TR @ 9 fve
Mae foar omer | 59 a fr ag By A& e @ ome M| Press fit by expansion
FHY ¥ AGHAR B Aod N F AT TRt F 3emAf 1 | (b) Es w9 e
Name the fit, in which the shaft is cooled below the room Press fit by shrinking
temperature until it fits into the hole, then assembly is | (c) aa=fed 99 fhe
allowed to attain room temperature. Hydraulic press fit
| (@) R TS
None of these
54. [ s =@ 9w & e (L) 3l Fra (P) & & a7 wa ¥ | (@) L=P
What is the relation between the lead (L) and pitch (P) of | () L= 4P
a two start thread screw? (c) L=2P
(&) L=1aP
55. | 3UERY &1 A san forad gart w3 # 3o 3R | (a) gsfede suwmw
 fETeweT & AT 3cdlelT THE @RT fRar Jrar g1 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) NIy
by leverage affect . Crow bar
(c) Wi fTowe
Fork lift
(d) s 3ueEt
Broaching tool
3 faFaRoT Y geas T R gard A & @ g | () FG SEI/ Mild steel

56.

7 Pick the material Which has the least coefficient of

thermal expansion,

(b) 3egAf A/ Aluminium

(c) 3=a¥ / Invar
(d) Trefaws / Titanium
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S &7

In which machining process, large amount of material is

removed?

57. |« e Ry & Rare 3wqar o @ @F 3wR F A R | (a) dlsE a0
Compressive force
& @ o9 ¥ 3T AAG - & 3eedeT &1 (b) = 7
If a rod is bent into curved shape as shown in below Tenstle force °
figure, then the top meost ‘Iayer is subjected to -------—- © Fﬂﬁ? Ez'Fr
Twisting force
/ ? (d) € o T
T No force
58. |Ar R e At R o oer so g Fr £ ? (a) 10
What is the smaller diameter of a tapered pin shown in (b) 18
below figure? () 12
(d) 16
Taper 1:50
——————— ——
59. | gorrel wiider ufgRar # QU R Sare GG N ----mv (a) #E / Cathode
. (b) T / Anode
& $9 A 3uer faar :
w ST ¥ (c) g@&«g13 / Electrode
In a clectroplating process, the item to be coated is used (d) 577 & 15 a6 /-
AS e ' None of these
60. | forg ahifeior wfshar o, or I & et & fAeren | (a) A/ Lapping

(b) FATessT / Milling
(c) &feT / Honing
(d) aftser / Buffing
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T, . 92 / Question | 3c aheT
Q.No Answer Options
- Lo e wlie R g W ured e o iR f e (a) wsfeiar / Puddling

The process of obtaining pig iron from iron ore is called

(b) ¥ATSET / Smelting
(c) MeRTor/ Prickling
(d) senf&eer / Blasting

U fawmew & #a & 51 ugrd #r ggER ?

Identify the heaviest material in the given options?

(a) Fgd FEIIT
Mild steel
(b) Hﬂﬁﬁmﬁ

Aluminium
(c) genfies
Plastic
(d) ==
Lead

SR el STEHT Y FIOT FT g § Al ol oommeen 2|
As the rake angle of the cutting tool reduces, its strength
L1 | [ ——— _

(a) sreamr
Increases
(b) & g
Reduces
(c) T T HIg T Ll
No affect on the strength
(d) 35 =g FET

None of these

(a) 9 CoATiEeH coTlec®d
Thermo plastic plastic
(b) e /T ToniEes
Thermo setting plastic
(c) dltg e T
Non ferrous metal
(d) ¥ arg

Ferrous metal

o T et swe [ o For o gt axar B
What is an angle ‘@’ represents in the cutting tool figure
given below?

(a) To=rr ioT
Clearance angle
(b) & o
Rake angle
(¢) a5 HyoT
Wedge angle
(d) 55 FI5 =7

None of these
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6. | & N FT B % g A Tg SAET - TAI | () Hgel / Softer
As the % of carbon increases in fron, it becomes mote - ®) / Hardelr
(¢) v / Ductile
_________ (d) gereret / Tougher
7. ﬁmmﬁﬁaﬁwww%? (a) 90.9%
What is the purity level of wrought iron? (b) 95.9%
' (c) 99.9%
(d) 93.9%
8. |fw gewr o & A RT F R@w v AER &t By & | (a) 25
& T gdT # gar | (b) 20
Find out the distance between the two holes in a plate as 45
per the hole table shown in the below figure, ()
_ HOLE TARLE: (d) 15
9 2| |HoENO| X | Y
. 1 5 5
Y 2 25 20
(U'D) X
9. | afae el Fl--mmmmem gar garfed gl (a) Tega it
Pneumatic drill is operated by -------- Electric power
(b) §fa arg ufed
Compressed air energy
(c) STESeT
Muscle power
(d) grereterd At
Hydraulic energy
10, |2y M & 47 1 AR SAIT S ke 3UERL & | (a) 9537 / Bed
gFsey R ToeT 1 BT F 3qe HAT &l (b) e Tl / Head stock
Name the part of a lathe machine, that provides the | (¢) ager / Carriage
method of holding and moving the cutting tool, (d) ¥ser T / Tail stock
11, | 3oy REaRoT # = Tad quis g gard F § @ g7 (2) g 3T/ Mild-steel

Pick the material which has the least coefficient of

| thermal expansion,

(b) 3egAITA/ Aluminium
(c) 3=a¥ / Invar
(d) TrsefA / Titanium
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12. 1 & Ru Ry & ¢ud Rt &7 oier =amg F97 ¥ 2 (a) 10
What is the smaller diameter of a tapered pin shown in (b) 18
below figure? () 12
(d) 16
3. | 3ueat &1 7 A Gwd @@ wl WE A osonr K| (a) EISTREd 3T
e & v 3edee veae garr Ry s 2 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) T |
by leverage atfect. Crow bar
(c) wF v
Fork lift
(d) SAT=RT 39Tt
Broaching tool
14. mw@ﬁwﬁ%wmwmﬁmwmw (a) Sy Icafola aehfar
FOgieT R ST g Electro Discharge machining
Pick the non-comventional machining method; it uses | (b) SeiFer TT™T FAF
reverse metal plating process. Electro Chemical Machining
(c) TsreT wfifear
Ultra Sonic Machining
(d) FolFgr cadar
Electroplating
I5. W@ﬁﬁrmﬁmﬁwmﬁraﬁaﬁ -------- (a) FUIE / Cathode
. (b) TAlE / Anode
& 9 H I FRAT ST & -
& (c) so1og1Z / Electrode
In a electroplating process, the item to be coated is used | (d) se7f & FE =8t /
A8 —mermem e None of these
16. | fv| malifer wftrar o, o AR & ugrd @t foyeron | (a) amAr/ Lapping
ST §7 | (b) i / Milling
In which machining process, large amount of material is ) .
removed? (c) 81far / Honing

(d) sfther / Buffing
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fhe &7 =19 g S@d ave # F F oamHs ¥ o

17. (a) TRV =T v fhe
efiael fopam Siiar &1 o9 o & 98 o &7 fise & ov e Press fit by expansion
FAY & AT B UA B & T g st ¢ | (b) s #ogw fhe
Name the fit, in which the shaft is cooled below the room | Press fit by shrinking
temperature until it fits into the hole, then assembly is | (¢) sa=iferd 99 fohe
allowed to attain room temperature. Hydraulic press fit
(d) FET PiS TG
None of these
18. | R R # @ Iew o3 F 9% L A A5 = | (a) FhEF g
Compressive force
g, o W ¥ I HAp - & el gl (b) oo e
If a rod is bent into curved shape as shown in below - Tensile force
figure, then the top most layer is subjected to —------- © m a—a
Twisting force
/ ? (d) FE e 78T
No force
19. | of g wigs Jga= ? (a) Hfoed 3§ Howhe
. . . Calcium Di Sulfide
Identify a solid lubricant? (b) AAeTRTT 5 GEHT
Molybdenum Di Sulfide
(c) MERT 5 Fothe
Potassium Di Sulfide
(@) TETH 3 Tohe
Sodium Di Sulfide
20. | 3wy T2 99 & fg (L) 3R Ra P)F da Fr wsw 2 | (@) L=P
What is the relation between the lead (L) and pitch (P) of (b) L=4P
a two start thread screw? (c)L=2P
' (d) L=1P
21. | off 2 e fr iy 1 9o 39 § o B $r i - | (a) 3% / High

mem BlAT TIRT
If the strength of material to be drilled is high, the drill
speed should be --------=--=---

(b) 7T / Low
OEGREIG FR Tt g
Speed will not deﬁend on
strength

(d) 39T F15 AL / None of

these
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22. | 3R HRAR & 39 AT The wEl @ afthR w&a ov | (2) 0.02
40 X g ¥ A9 T o, mm F oS sEer (b) 0.01
TYAAH 0T (T ) FAT 82 (FET Fhel HeT=Imm ) (©) 0.025
In a vernier caliper 39 main scale divisions are divided
into 40 equal points on the vernier scale. Then what is its | (4) 0.03
least count (LC) in mm? (take the value of main scale
division =lmm}
23. | FisEr Y @ M ST &2 (a) & / Shoulder
Which is not the part of a file? (b) TS / Heel
' (c) ®Ter / Ferrule
(d) %< / Barrel
24 | B S F1 Rwg T B g Oa e A aAR 8 | (@) 457
3UgFD | (b) 100°
What is the point angle of prick punch which is used for (©) 75°
making light punch marks?
@30°
25. | v AR = e (2) 0.001
One micron = —=-eememnmee- cm (b) 0.0001
{c)0.01
(d} 0.00001
26. FAA Toar F (AT Fiee R F @ 395 | (2) Ao Aa
HIGGED ‘ _ Soluble oil
What is the coolant used for machining cast iron? (b) TareT Ty
Chemical Solution
(c) @lST O
Mineral oil
(d) <frcrer =Ter
No coolant
27. | SelifeeRy goler 3Hd —oommee &anr foafgse (a) 3TRIAsT / Volume
The engineer’s hammer is specified by itg ----—-- (b) &Sl & TS
Length of handle

[ (d) 7T / Material

(c) | / Weight
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28. | fafelr oy 44 mv/min 3R fBe &1 =9 20 mm & fAw | (2) 350
fRgga RPM &1 7101 i) (b) 1400
Calcullate the spinc.ile RPM for drilling speed of 44 m/min (©) 500
and diameter of drill 20mm,
(d) 700
29. | R A= (IS) Yol & 3TAN U f3er f9e & 9.5~ | (a) W& v
H-IS5101-HS, veafaa &1 50 # d=ar 9.5 &7 7 HY Rake angle
gl - . (a) f5a foe ofars
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5-H-IS5101-HS, in this the number 9.5 | (¢) Tedser warg
stands for -=----==rmr-r--- Spindle diameter
(d) fowr
Drill diameter
30. | & ow ows ft BEE F O 39T (a) Whel @es / Single cut
The file used for filing leather i§ ----mnvnm-- (b) g7AT @esT / Double cut
(c) TRT HE / Rasp cut
(d) <er Fress / Curved cut
31. |\ T AR O & 3eMg (25%7 -4), % I A= (5x-2) | (@) (5x-2)
ar BT 9l St . . (b) (5x+2)
g;efgidr}lgte r(:ff lt];K(inBq?ualltltieS Aand B is 255" —4), If A; (©) (4x—2)
L (dy(4x+2)
32. | =iford [ WX a1g @RT W9NC 90T SO AT - F8d 87 | (a) B9 / Pressure
The friction force exerted by air on a moving body is | (b) a&fieaT / Drag
called ~-------ems | (¢) 38 / Lift
(d) 3cvei@sar / Buoyancy
33, | wefer swperer fmwmael # Al @ R oo ) (a) S RIS wRer
foerar ¥ gy F i oot 7 foReRar & §ew 7 ad Daily lubricate
g R wiafam & | (b) woAfe FEwar -
In a machine maintenance manual, regarding the | Weekly lubricate
frequency of lubricating the machine, square symbol | (c) HITGF FAFAT FLAT
represents --------------- Monthly lubricate

| (d) =rides e FRar

Yearly lubricate
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34.

T Mol YA g F1 REeH 79 F1/3 4 e &
ol¢ g gare av| W Brae g sEIT ST T B

A spherical aluminium ball is melted and made into
smaller balls of 1/3 4 radius of original one. Then how
many such balls can be made?

(a) 27
®9

(c) 18
(d)12

35.

8mm Wd & o ¥ ha 4 mm @ed A F Fer o

Herdl §7
How many cubes of 4mm side can be cut from cube of
side 8mm?

(2) 8
(b) 4
(©)6
() 12

36.

3 gedhR OF TS a7 ¥ @9 W ¥ oo 36w
Where is the centre of gravity (CG) of right circular cone
of height ‘h’ from the base?

(2) b2
(b) h/4
(c) b/3
(d) 2h/3

37.

TG FEIT B T ASYEH F4T §?

What is the Young’s modulus of mild steel?

(2) 21 X 10° N/’
(b) 210 X 10° Nm*
(c) 70 X 10° N/m?
(d) 7 X 10° N/m?

38.

TH 63 AR & famuig o am Giw ot R urg @
BHAM 4:3:2 F I A AT T4 o 5H Faarg d &
TEF TG F W A G AR (kg) B T

An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 respectively.

Then pick the correct weights (kg) of each metal in this
alloy in a same order?

(a) 32, 24, 7
(b) 29, 22,12
(c) 28, 21, 14
(d) 26, 20,17

39.

75 m’ A & o1 T MR 150 gm ¥ ST 41g F 300
m’ HEA & HR I

Weight of 75 m® volume of metal is 150 gm. Then find
the weight of 300 m® volume of same metal,

(a) 300 gm
(b) 900 gm
(c) 500 gm
(d) 600 gm
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40. | v TR F OR F 300 N &7 9 § rwdr aredafds «arg | (2) 20 N-m
15 JAT §, & GO T N el SEe? (b) 90 N-m
A force of 300N is applied at the end of spanner, whose (c) 45 N-m
effective length is 15cm. Then find the torque applied?
{(d) [1.25 N-m
41 99 @ A gf @ 3W) Hdg S & "iewehe Ukid @ (a) %¢ / Root
|1 e oy — Fgd &l (b) weler / Flank
In a screw thread, the top surface joining two adjacent (c) see / Crest
sides of thread is called --------- (d) % / Throat
42. [ww MI2X15 & weEd (@ee) 31 a8 & fav. s | (2) 11.85 mm
AT (WS} ST F1 87 ‘ | (51215 mm
What is the blank size (diameter) for preparing a bolt of
M12X].57 (c) 11.5 mm
(d) 123 mm
43. | fog 3t emee &7 degar & wfalifcg oar 9 &% [©F 7 | (a) R / Clearance
e arar &, o 59 e Al e FEd Tl (b) =afasor / Interference
If tolerance of hole and shaft represented as shown in | (¢) uR@der / Transition
below figure, then this fit is called —--- . .
’ (d) 58 P
E L dsHrT None of these
\ SHOLE
44. | v vww Mo o g fB3feer AR wfa seefa @ foewee | () e e
FTAT PT —mmmmmmm Fed Bl Centre drill
A single tool which performs the combined operation of | (b) fawdier @afa
drilling and counter sinking is called --------- Counter sink
(c) fada 3
Counter bore
(d) el
Tap
45. | 60" 45 =1 it B (a) 60.75°
The angle 60° 45’ = cmrmmmmnnmev (b) 60.5°
(c) 60.25°
(d) 60.6°
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46. | Ragw, Tl F URUT #WA ¢ FE dwS w1 39T @B | (a) e REsT
el &7 Pipe vice
Which vice is used for holding rivets, keys? (b) BT T
. Hand vice
(ORECRECT
Pin vice
(d) § R¥haTr
Bench vice
A7, | wEgar o # e R &% AR X 3 & (2) 3R BT Hftwan @
gfafa®r s2ar gl Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T = =gaAdH AT
dimension "x’ represents ---------- Minimum limit of size
() =1 =afawA
EKEV L7777 77773 N ' Lower deviation
. (d) 39 cafawA
2 Upper deviation
O
48. | alvR dge WgaeT HT ~gHAdH I § o (a) 10°
' The least count of vernier bevel protractor is --------- O
()5
(d)2’
49, TE ®en AR ae WEIIAT WONST # ©IE 3R AW | (a) % / Hole
ST —--mmm- 3ifrd Fear § (b) eme / Shaft
In a hole and shafi tolerance system, small letter indicates | (c) gt fw 3k amee
fundamental deviation of =--ueeeev Both hole and shaft
(d) 38 g &
None of these
S0. 1 & Y oHr e g A A Y RY & 7AT § A (a) 957 wFw
________ FEY B ' Major diameter
The diameter of the thread, at which the thread thickness | (b) = =ar@
equal to half of the pitch is called ----------- Pitch diameter
(c) g =

Minor diameter
(d) 7T (3) =ug
Shank diameter
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51, | ey - vfafeelsr 3 doswr & cfafefow fafeis @ anf (a) @el / Red
FS FAT 87 [ (b) A& / Maroon
What is the colour code of acetylene cylinder in oxy- (c) & / Green
ing?
acetylene gas welding? (d) T / Black
52. | vw wrEe udor do o a7 & 3R e 10 (a) 220 cm’
‘ 2
WA § F e TAT &% F gl o] (b) 110 em
, (c) 440 cm®
Find out the outer surface area of hollow thin cylinder, 5
(d) 70 cm
whose diameter is 7 cm and length is 10 cm?
53, | 104°F = f3ef ofcowa # scor (@ 40°C
. 0~ -
Convert 104°F into Degree Celsius, (b)30°C
(c)23°C
(d)50° C
54. | o7 i el & 99 HEe GAE W IUgEd 9ard Sit | (a) U / Bpoxy
Few div, Hifady 3 Taee wiafear &1 ufatiy a=ar §1 | (b) ®=rer / Char coal
The material used in furnace wall as a inner most layer, to | (c¢) 3r9ad® / Refractory
z‘cesist high temperatures, physical and chemical reactions (d) FXef¥er / Nitrading
is called ~--------
55. | LPG & foeeor §7 () SfFgs drwige I
, Liquid Profile Gas
What is the full form of LPG? (b) AfFawes defeea |
Liquefied Petroleum Gas
(c) hfeFas 1R 919
Liquid Pressure Gas
(d) & 9 AT
Low Pressure Gas
56. | freeic 358 1 JosaT Mg ¥ ? (@ D
What is the welding symbol for fillet weld? (b) M1
© v
(@ 1l
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What is the welding rod used for welding aluminium
plates?

57, | e g o] & TRAR S A1s W eed w0 A b & | (a) AT / Notching
________ — (b) ?ﬁ?ﬂ‘ﬂ / Hem?ning
(c) oot / Punching
The process of stiffening edge of sheet metal article by - (d) &= / Snipping
folding is called --------- -
S8. | wifeler afsear Tl o7t i 18 7 @l § 3N epwey (a) 39AEEIT /- Upsetting
FIC AT BT § Pl -mvmeeee wed 8 (b) 35T 33T / Drawing out
The forging process in which, the length of forge reduces (c) ST / Shortening
| and cross section increases is called ---------- (@) BT / Drifting
59. | T (T 3T 1 giAe? (a) kg/em”
What is the unit of Torque? (b) Kgfem
(c) Kg—m
(d) gm/cc
60. | JrpAlfera woie & desd & fAv FiT W Jead o 3UgFT? | (a) 3TT F sEAA

High carbon steel
(b) T - =Y T8 e

Copper-silver alloy
() Y& Jrepiferas

Pure aluminium
(d) =reg

Bronze
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9. E.
Q.No

g9 / Question

3t iaa)(“q

Answer Options

75m3ﬂaa;ré:m$rsm150gm§lﬁrma: 300

m’ m%mml

Weight of 75 m Volume of metal is 150 gm. Then find
the weight of 300 m® volume of same metal,

(a) 300 gm
(b) 900 gm
(c) 500 gm
(d) 600 gm

Tk T & BR A 300 N# aar & ooy areaes das

15 &l &, o vged e &1 var eemd?
A force of 300N is applied at the end of spanner, whose
effective length is 15cm. Then find the torque applied?

(2) 20 N-m
{b) 90 N-m
(c) 45 N-m
(d) 11.25 N-m

UF 63 3R & fAmg SR am Gw R e g W
A 4:3:2 F oI F AT AT A 56 Ry F
TS Ui A 3E H & Gl 9R (kg) F Iqiw

An alloy of weight 63kg is made-up of Copper, Zinc, and
Tin metals by mixing in the ratio of 4:3:2 1espect1ve1y
Then pick the correct weights (kg) of each metal in this
alloy in a same order?

(a) 32, 24, 7
(b) 29, 22,12
(c) 28, 21, 14
(d) 26, 20,17

A IREoT FEAEdt § i # Re e &
R & Heyw & g @ & TRowar & geg & g
RIeg Rreer ufafamr &1
In a machine maintenance manual, regarding the
frequency of Iubricating the machine, square symbol
TEPresents ——-—~mmmemmemm-n

(a) - TSt F&AFar HLAT
Daily lubricate

(b) Goargs T w3
Weekly lubricate

(¢) AT e s
‘Monthly lubricate

(d) @l Rwer war
Yearly lubricate

fer 2 WX 9y qanT o g qe B o a0
The friction force exerted by air on a moving body is
%:1 -7 (——

(a) a9 / Pressure

(b) T / Drag

(c) 3a1T / Lift

(d) 3cverg=shar / Buoyancy

8mm 9129 & ¥4 ¥ Fad 4 mm 9o 99 &) Fer o7

HFAT 87
How many cubes of 4mm side can be cut from cube of
side 8mm?

(a) 8
(b4
(c) 6
d) 12
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7. | 3f9 geawr ¢iF fomw ad @ e W %a‘rw (2) /2
Tecd Heg Bl 67 ‘ (b) b/4
Where is the centre of gravity (CG) of right circular cone () b3
of height ‘h’ from the base?
(d) 2h/3
8. Wmmwmmw%? (a) 21 X 10° N/m”
What is the Young’s modulus of mild steel? (b) 210 X 10° N/m?
(c) 70 X 10° N/m?
(d) 7 X 10° N/m®
9. | gy mmar v Ak & & 3cue (25x0 - 4), ¥ 3y A=(5x-2) 1 (@) 5x—2)
at B 9ar oeme| | 1) (5x+2)
The product of two quanuttes Aand B is (25x —4), If A= _
(5% - 2), Then find B? (c) (4% —2)
(d) (4x +2)
10. | ws ohver sregeem g F MEEEK 77 & 1/3 o Bear 5 | (a) 27
o 3 aare v W fRae 9GS S e g (b) 9
A spherical aluminium ball is melted and made into (©) 18
smaller balls of 1/3 .4 radius of original one. Then how _
many such balls can be made? (@ 12
I, | vw e gae de foem s 7 9o IR o 10 | (2) 220 o’
2
I ¥ & aEd FdE GG 9T (b) 110 om
(c) 440 cm®
Find out the outer surface area of hollow thin cylinder, 5
_ (d) 70 cm
whose diameter is 7 cm and length is 10 cm?
12. | LPG & faeader g2 (a) NFgE SiwEe A
What is the full FLPGY Liquid Profile Gas
at 1s the orm of L ! (b)mmﬁ_g
Liquefied Petroleum Gas
(c) efFag wer
Liquid Pressure Gas
(d) = R T

Low Pressure Gas
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HIC UG AT & FT - FEd
The forging process in which, the length of forge reduces
and cross section increases is called ----------

13. IHFHT ~ TR I desw & vRaRfow RNt #r et (a) T / Red
IS FAT §7 (b) A% / Maroon
What is the colour code of acetylene cylinder in oxy- (c) 87 / Green
acetylene gas welding? (d) =14 / Black
14. | fseeic do8 &7 dosd e & ? @) nS
What is the welding symbol for fillet weld? ) M
| © Vv
@ il
15. | e (I 3meel) 1 gfee? (a) kg/em®
What is the unit of Torque? (b) Kg/om
(c) Kg—cm
(d) gm/ec
16. quaﬁré?mﬁmgaﬂmaﬂﬁﬁmﬁ (a) AT / Notching
________ B (b) %ﬁ?TET / Hemfnmg
(¢) gf=ar / Punching
The process of stiffening edge of sheet metal article by (d) Re=fdler / Snipping
folding is called --~----—
17. [ 104°F % faefr g # gea (a) 40°C
0
Convert 104°F into Degree Celsius, (b)30°C
(©)23°C
(@) 50°C
18. Hﬁ@f@?ﬁ%ﬂa@mmwmmﬁ@)mlEpoxy
3 A9, ST AR are giafEar & 9y sar #1 | (b) F=er / Char coal
The material used in furnace wall as a inner most layer, to (c) 39T / Refractory
resist high temperatures, physical and chemical reactions (d) 2R / Nitrading
is called —e--m-m-- B
19. | wIfster wfehar ot ot & dar$ &7 Q0 & 3K sy | (a) 3r90feTT / Upsetting

(b} 81591 373 / Drawing out -
(c) e/g®or / Shortening
(d) T3f%9r / Drifting
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ST 37
In which machining process, large amount of material is
removed?

20. | e v % desa & Qv Sl @ dosd ol sFA | (a) 35T FEA G
? High carbon steel
What is the welding rod nsed for welding aluminium (b) @& - =idy oy g
plates? : .
Copper-silver alloy
(c) Yg IFHIRTH
Pure aluminium
(d) ® e
Bronze
21, | 3ueaw & A1 9a¥ o ganr ol Alg @ So AW | (a) ErefEde sussw
Rwsm % T 3edesT 9T @ T S 2 Hoisting tool
Name the tool, which is used to lift or move heavy loads | (b) T §X
by leverage affect. ' Crow bar
(c) ws fooe
Fork 1ift
(d) sRT 3T
Broaching tool
22, M RrRyd S Ra s e aar g ? (a) 10
What is the smaller diameter of a tapered pin shown in (by 18
below figure? ()12
(d) 16
Taper 1:50
------- ——
23. | & 3 T 99 F s (L) 3K We(P) & &g Far dew 7 | (@) L="P
What is the relation between the Iead (L) and pitch (P) of (b) L=4P
a two start thread screw? (c) L=2P
() L=1%P
24. | frg mhfA ufeer &, o oy & 9grd @ foveeran | () @/ Lapping

(b) Afes / Milling

(c) gifeier / Honing
(d) sfther / Buffing
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herer fpar e &1 o o &7 95 B 7 e & aw fiw
AL & A9 B GO H & AU TR B AR

Name the fit, in which the shaft is cooled below the room
temperature until it fits into the hole, then assembly is
allowed to attain room temperature,

25, | A e Ry & Rew smer o & 9% 3er & A @ | (a) d95s g
Compressive force
AL s B e [ - — & 3T § (b) T a
If a rod is bent into curved shape as shown in below Tensile force
figure, then the top most layer is subjected to --------- ©) mj—sr W
Twisting force
/ ? (d) % aor gt
; No force
26. | arete AT AR = www w O ag e afvw &1 (a) sower scafeg mhiEer
39T foRar ST g Electro Discharge machining
Pick the non-conventional machining method; it uses | (b) Seierer wag=T AT
reverse metal plating process. Electro Chemical Machining
(c) e AT
Ultra Soni¢’ Machining
(d) gererT waifea
Electroplating
27. | e SWlider Afehar # T U TRare a¥g H --eoee (a) ST / Cathode
: b) Ts / Anod
& 9 H Frr fFar Sar §7 ®) o
(c) gelwels / Electrode
In a electroplating process, the item to be coated is used (d) 397 & *IE Fel /
as . None of these
28. | oA faEARoT B FYEaH i R 9ard A § g (a) FGE $Td / Mild steel
Pick the material which has the least coefficient of (b) 3rEAietas / Aluminium
h 1 . (c) $=aX / Invar
ermal expansion, .
CHmat exp (d) Tr2FrIH / Titanium
29, fhe &1 7 sdv f9eR ave #F FA F I3 F oD | (2) @Earer s 90 s

Press fit by expansion
(b) F=FIz FT 99 e

Press fit by shrinking
(¢) gauifad 9d e

Hydraulic press fit
(d) R FE

None of these
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30,

B Tgd g ? (2) HiRTH TF TEHC
. . ) Calcium Di Sulfide
IQen’qu a solid lubricant? (b) HEEHRT 2 Fethe
Molybdenum Di Sulfide
(c) IRRT 3§ TewT
Potassium Di Sulfide
(d) ez =8 webe
Sodium Di Sulfide
3L | % O a8 & fAws & QU 3T e (a) Use et / Single cut
The file used for filing leather i8 -=mmnmnr--- (b) g et / Double cut
(c) TFY e / Rasp cut
(d) a1 @ed / Curved cut
32. | EoliaTd BYIST FHF wom-mmmm gany faafese (a) HTIT / Volume
The engineer’s hammer is specified by its -mun- OEERE IGEL
' Length of handle
(c) |IT / Weight
(d) &1 / Material
33. | wch AT (IS) WoTell F 3ER T fgel e @ 9.5 | (a) W @I
H-IS5101-1S, 9ganfia & g9 & I&ar 9.5 & #4737y Rake angle
5| - | O)EERECELIS
As per the Indian standard (IS) system, a drill bit is Drill bit length
designated as 9.5 H IS5101-HS, in this the number 9.5 | (¢) Fdser
stands for ---=-m--rm----m- Spindle diameter
(d) e =mw
Drill diameter
34, (a) 357 / High

ofy 3 R & Yard &7 o 32T § ar fger & afd -

If the strength of material to be drilled is high, the drill
speed should be ~----—--urmnmmv _

(b) @&t / Low
(0) ae ) My IR A g

Speed will not depend on
strength

(d) 3UUSFd F1S Fol / None of

these

Page 7 of 14




TE 02 (Fitter) : Series — D

35, (a) 0.001
One micron = «--—-ceee e cm (b) 0.0001
(c) 0.01
(d) 0.00001
36. | fask S w1 Ry #o B g O Fed & @ &g | (2) 450
3ugaEd (b) 100°
What is the point angle of prick punch which is used for () 75°
making light punch marks?
(d) 30°
37. (el wemi Wy (NI wive 3mRe) ¥ R 39gF | (a) faer T dwr
SIRECH ‘ : ~ Soluble oil
What is the coolant used for machining cast iron? (b) T foer
Chemical Solution
(c) @t A&
Mineral oil
(@) 2frerer &l
No coolant
38. | wlerar Y T T AT £ (a) 4T / Shoulder
Which is not the part of a file? (b) WS / Heel
(c) ¥3eT / Ferrule
(d) 3XeF / Barrel
39. | Bfe af 44 m/min HY el & =w@ 20 mm ¥ faw | (2) 350
fedsd RPM &1 a1ovar =+ (b) 1400
Calculate the spindle RPM for drilling speed of 44 m/min () 500
and diameter of drill 20mm, ‘ '
(d) 700
40. | afffaR SR & 39 A7 Tha #ET # afoRR Tha W (a) 0.02
40 W fHg § e S wan mm #F & 6| (5)0.01
FGATH IO (US.H) FAT §? (T Th #1T=1mm ) (c) 0.025
In a vernier caliper 39 main scale divisions are divided (@ 0.03

into 40 equal points on the vernier scale. Then what is its
least count (LC) in mm? (take the value of main scale
division =[mm)
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41. | I T Fera soe g F sor @ wiafatd swar # (a) TRl FoT
What is an angle ‘@’ represents in the cutting tool figure Clearance angle
given below? (b) T T
Rake angle
(c) 95t HIUT
Wedge angle’
(d) 599 =I5 =@
None of these
i
42. | v fomed # w9 @ XY werd & gguE 2 (a) g FEId
Identify the heaviest material in the given options? Mild steel
(b) sreifaferas
Aluminium
(¢} TeriEeeE
Plastic
GES
Lead
43, | e F 3N 3T FET #7 % q29 ar 9% SaeT —eme S | (a) Fgel / Softer
As the % of carbon increases in iron, it becomes more ---- (b) N/ Harder
(¢) oi&rer / Ductile
""""""""" (d) @yr&et / Tougher
44. | Fod A ¥ R g FY weg w B uiEd §ooeeeeeee (a) gsfelar / Puddling
The process of obtaining pig iron from iron ore is cafled (b) wtie . / Smelting
(c) R/ Prickling
""""""" (d) st / Blasting
45. | oy #AMF &K T HT OART WA ST Al IUEH & | (a) 42T / Bed
gz 3T o Fr §fT = suerser wwar & (b) ¢ wiw / Head stock
Name the part of a lathe machine, that provides the | (c)a®Ea / Carriage
method of holding and moving the cuiting tool, (d) &se T / Tail stock
46. | g e sr R AW R 7 @ we sgar o B ¥ (a) 25
dr AT g T I H (b) 20
Find out the distance between the two holes in a plate as -
per the hole table shown in the below figure, ()45
HOLE TABLE: (d) 15
1 7| ool XY
1 1 5 5
Y 2 25 20
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47.

feal oy &1 ygar T w2
What is the purity level of wrought iron?

(a) 90.9%
(b) 95.9%
() 99.9%
(d) 93.9%

48.

(a) 9T c@Ee® TaliecH
Thermo plastic plastic
(b) a9 dfeer varfees
Thermo seiting plastic
(c) Tt g g
Non ferrous metal
(& eg

Ferrous metal

49.

ﬁwmwmmm%a’rw -------- g

As the rake angle of the cutting tool reduces, its strength |

1511 IR

(a) T
Increases
(b) @t g
Reduces
(c) 98 W &Iy YT G
No affect on the strength
(d) 3a#t #rs & B

None of these

50.

arfael Be Flmmeme ZanT e 8

Pneumatic drill is operated by ------—--

(a) faega s
Electric power

(b) IS arg laa
Compressed air energy

(c) g |
Muscle power

(d) geanfaa afea
Hydraulic energy

51.

Wﬁ?qmﬁwwqﬁﬁ@aw#ﬁ?%sﬁ?#

If tolerance of hole and shaft represented as shown in
below figure, then this fit is called ------

# AsHAFT
[ N N HOLE

(a) ¥Rt / Clearance

(b) safdeur / Interference
(¢) YR@cet / Transition
(d) 38 I =& '

None of these
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(2) 11.85 mm

52. [uw MI2XLS & wemell (dee) @ ads & o7 sos
IATRIES) SUrE T §7? (b) 12.15 mm
What is the blank size (diameter) for preparing a bolt of
MI12X1.5? (¢ 1.5 mm
(d) 12.3 mm
53. ﬁaaﬁrﬁaﬁwmwsﬁaaﬁaﬁmwﬁ (a) ¥€ / Root
RUSAT § Bl -ommmoev FEd € | (b) Feis / Flank
In a screw thread, the top surface joining two adjacent | (c) %¥e / Crest
sides of thread is called --------- (@) 9 / Throat
54. | UF Twer AN S e B Ak 9t smafa # Rswee | (a) S B
I r | - Fga &l Centre drill
| A single tool which performs the combined operation of (b) fawrlie sra=tfar
drilling and counter sinking is called -------- Counter sink
| (c) favdia &<
Counter bore
(d) wreit
Tap
55. | aftR qae WeHeR A wHAAH AUA § --moee (a) 1O?
The least count of vernier bevel protractor is «-v------ b1
() 5°
(d)y2’
36. |\ EYar yumelr A fAed RE ok IRER xR @ (a) IHR T REIH G
gfafafer & g Maximum limit of size
In a tolerance system, as per the below figure, the | (b) 3T & FYTAA AT
dimension ’x’ represents ---------- Minimum limit of size
(c) =7 safama
_>§[V LLZLLLILLIT 77 N Lower deviation
7 B (d) i eafama
i Upper deviation
57. | 60° 45> @1 FioT (a) 60.75°
The angle 60° 457 = wemmenmaan (b) 60.5°
(c) 60.25°
(d) 60.6°
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58. | Rded, 9t 1 4RO w5 E ewer w 39T R | (a) wsw R
ST €7 Pipe vice
Which vice is used for holding rivets, keys? (b) gy RemaT
Hand vice
(c) Bt Rgar
- Pin vice
(d) s= Rysham
Bench vice
59. | & #Fr iy fawHE g T Al ey T & wAw § # | (2) 95T S
________ Fead T : Major diameter
The diameter of the thread, at which the thread thickness | (b) T =@
equal to half of the pitch is called ~--v-mem-- Pitch diameter
(0) g =T
Minor diameter
(d) mFeaET (QF) s
Shank diameter
60. [ vr fwg 3R urde weggar womer ¥ o 3R AW | (2) B 7 Hole
AT oo 3T T § ' (b) amFe / Shaft
In a hole and shaft tolerance system, small letter indicates | (¢) g fog 3ilv amwe
fundamental deviation of --------- Both hole and shaft
(d) g8H Fg 7

None of these
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Fitter (TEO2) — Revised Answer key

ISRO SATELLITE CENTRE
Revision of Answer key published on 02-12-2016 ohé written test for
selection to the post of Technician —@Fitter) held on 20-11-2016
(Advt. No. ISAC. 02:2016 — Post No : TE 02)

| Answer Key |
| SeriesA || SeriesB ||| SeriesC || SeriesD |
Question || Correct Question || Correct Question || Correct Question || Correct

No. Option No. Option No. Option No. Option
.+ | d J 1 | c J 2 | b J_ 1 | d |
L2 | c |2 | b | 2 | L2 | c |
. 3 | b JL 3 | b | 3 | a || 3 | c |
L 4 | d J 4 | b |4 | b || 4 | c |
. 5 | c JL5 | ¢ |5 | ¢ |5 | b |
. 6. | b J|_ 6 | a || 6 | b || 6 | a |
L 7 | d 7z | b 7 | ¢ |7 | b |
. 8 | d |8 | a || 8 | a || 8 | b |
L9 | c L9 | ¢ 9 | b }Jl 9 | b |
| 10. | d || 10. | a ||| 10. |cond| | 10. | a |
11, | a || 11. | ¢ || 11 | ¢ || 11 | a |
12, | b || 12. | d ||| 12. | d || 12. | b |
| 13, | ¢ || 13. | ¢ ||| 13. | b || 13. | b |
14 | ¢ || 14 | b || 14 | b || 14 | a |
| 15, | a || 15. | d || 15. | a || 15. | ¢ |
16. | b || 16. | d || 16. | b || 16. | b |
17, | a || 17. | b || 17. | a || 17. | a |
| 18. || ¢ || 18. | d || 18. | b || 18 | ¢ |
19, | b || 19. | ¢ || 19 | b || 19. | a |
' 20. | b || 20. | d ||| 20. | ¢ || 20 | ¢
21, | b || 21. | a ||| 21. | b || 21 || b
22, | a || 22. | b ||| 22 | ¢ || 22. | d |
023, | ¢ || 23 | b ||| 23 | d || 23 | c |
24, | a || 24 | c ||| 24 | d || 24 | b |
| 25. | d || 25. | a ||| 25 | b || 25 | b |
| 26. |cond| | 26. | a ||| 26 | d || 26. | b
27. | b || 27. | ¢ ||| 27. | ¢ || 27. | a |
| 28. || ¢ || 28. | b ||| 28 | d || 28 | c |
- 29. | b || 29. | a ||| 29. | d || 29. | a |

30. b 30. C 30. C 30. b
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Series A Series B Series C Series D
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option

31, || ¢ || 3. | b || 3 | b || 31 | ¢
32, | a || 32 | b ||| 32. | b || 32. | c |
33 || b || 3 | b ||| 3] ¢ || 33 | d |
| 34 | a || 34 | a ||| 34 | a || 34 | b |
| 3. | b || 3. | b ||| 3. | a || 3. | b |
| 3. | c¢ || 3. | a ||| 3. | b || 36 | d |
| 37. | b || 37. | d ||| 37. | b || 37. | d |
| 38 | ¢ || 3. | ¢ ||| 3. | ¢ || 38 | d |
| 39. | a || 39 | ¢ ||| 3. | d || 39 | d |
| 40. | a || 40. [c@nd]| | 40. | ¢ || 40. | c |
41 | d || 41 | b ||| 41 | ¢ || 41 | c |
42, | a || 42. | b ||| 42 | a || 42. | d |
| 43, | ¢ || 43 | ¢ ||| 43 | b || 43 | b |
44, | b || 44 | a ||| 44 | a || 44 | b |
| 45, || ¢ || 45 | ¢ ||| 45 | a || 45. |cond]|
| 46. | b || 46. | ¢ ||| 46. | b || 46. | a |
47 | b || 47. | b ||| 47. | ¢ || 47. | c |
| 48. | a || 48 | b ||| 48 | ¢ || 48 | b |
49, | b || 49. | d ||| 49. | b || 49. | a |
| 50. | b || 50. | a ||| 50. | b || 50. | b |
' 51. | ¢ || 51. | b ||| 51. | b || 5L || b
| 52. | a || 52. | b ||| 52. | a || 52. | a |
| 53. | b || 53 | a ||| 53 | a || 53 | c¢ |
| 54, | a || 54 | ¢ ||| 54 | ¢ || 54 | a |
| 55 || ¢ || 55. ] b ||| 55. | b || 55 | ¢ |
| 56. | d || 56. | ¢ ||| 56. | a || 56. | ¢ |
' 57. | b || 57. ] b ||| 57. | b || 57. | a |
| 58. | ¢ || 58 | d ||| 58 | a || 58 | b |
' 59. | b || 59. | a ||| 59. | ¢ || 59. | b |
| 60. | b || 60. | b ||| 60. | ¢ || 60. | b

Answer highlighted in yellow colour indicates the change in answer.
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